Exit Ticket D3 - Sharing in a Ratio

Correct Answer: ABCD
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Explanation:
70 litres of paint is mixed in the ratio blue : white =5 : 2
How muchwhite paintisused? | aaassssaaassssasansssssansssssaanasssaanatssesaaantessannranssnnnnnnnnnnnns
A B Cc D
35 litres 50 litres 20 litres 28 litres
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Correct Answer: ABCD
Explanation:

. . . . Correct Answer: ABCD
Josie and Caitlin share sweets in the ratio 2:7.

Explanation:
Caitlin has 10 more sweets than Josie.

How many sweets does Caitlin have? | 1 i

a 7 g 70

B 35 B 14
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